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% [ Editor - C:\Users\hp\Babalola2003.m

[ Babatolazonzm = [ # |
1

~ commandwindow
f 2= clear
! 3 = clc
| 4 — close all
5 = syms t m(t)
[ cd=m (0)==150;
7
= min=50* (1+sin(t))
9 - mout=0.025*m
10 = egn=diff (m, t) ==min- (mout)
11 = s=dsolve (egn, cd)
12 = tn=0:0.05:450
13 = S5=subs (s, tn)
v 14 - plot(tn,S)
. 15
16 — grid on
17 - grid minor
18 — ¥label ('Time (minutes) ')
19 — ylabel ('Amount of Salt in Tank(Ib)')
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ﬁr Editor - C:\Users\hp\BabalolaFeb2003.m
Babalola2003.m | BabalolaFeb2003.m < | 4+ |

T clear
= clc
= close all
= syms t
a=[]
= t=0:1:500
= vy=(50/0.05)+((50/1.0025)*sin(t))+((2.5/1.0025) *cos (t))—(802.49*exp(-0.05*t))

= Ym=1000-(800*exp (-0.05*t))
— if rem(t,2)==0

el e
A N A =T T B T R 7 ) S
|

11 — a=[a, ¥m]

12 — else a=[a,y]

i3 - end

1

15 % Ex=transpose (a)

1¢ $EX represents the microsoft excel values

17 — Trp=transpose (t)

18

i — plot(t,a)

20 — grid cn

21 — grid minor

22 — Xlabel ('time (minutes')

23 - vliabel ('voliunm e(litres) ')

24 - xlswrite ( evbesdata.xlsx',{'t (minutes) '}, eriler','Al’)
25 — xlgwrite ('cdevhs Ta 1 oy =riler’', 2')

28 — xiswrite ( evbe ta ,{'"Volume (licre b, i ,"Bl')
27 - xXlzxwrite (' evihezsdat X (Ex,'Veriler','B2")
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1 |t(minutes vnlume[lifres
P 1 279.9639
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